GALVANIZED CABLE

(2) 3/8-16 THREAD ENDS

(2) 3/8 FLAT WASHER

(2) 3/8 SPLIT LOCK WASHER
(2) 3/8 HEX NUT

(2) CABLE STOPS

CLAMP SADDLE
CAST 356 ALUMINUM
=
2" NPS
FLANGE
CAST 356 ALUMINUM
(2) 5/16-18 U-BOLT
(2) 5/16 SPLIT LOCK WASHER
(2) 5/16 HEX NUT (4) 3/8-16 BOLT
(4) 3/8 FLAT WASHER
(4) 3/8 SPLIT LOCK WASHER
PART NUMBER
CABLELENGTH | MAST ARM DIA. SBC46-FLANGE
66” 3” _ 7l| -
90" 7"-11" CABLE LENGTH
120" 12"-15"
" 0 0 THE INFORMATION CONTAINED TN Ty —
144 16" - 20 o
165" 20" - 22" TOUT THE WRITTER, PERMSSION MAST BRI NUNTIMG B4 HBWARE
OF SKYBRACKET IS PROHIBITED. TITLE
APPROVALS BY DATE 2” FLANGE BAND
NOTES: DRAWN | TRC 8/25/23 STYLE MOUNT
1. STAINLESS STEEL FASTENERS s
2. AVAILABLE WITH BAND STYLE CLAMP — : DWG. NOSBCéé—FLANGE Ri\vv
DO NOT SCALE DRAWING SCALE: NTSlCAD FILE: SBC66-FLANGE |SHEET 10F1




	Sheet1
	Drawing View4


